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4(4x+6y) +2(9x—8y)

® 5(—4a+9b) +7(6a—3b)

® 7(x—-4y)+3(—3x+2y)

@D 4(4x-3y—-1)+22x—7y+9)

@ 9(-2x+5y—3) +5(4x—Ty+8)

9(2x—5y) +3(8x—y)

2(—5a—"17b) +8(8a+2b)

6(7x+4y+5) +5(2x+6y+8)

3(-5a+3b+8)+8(2a—-7b—-1)

2(5a—3b+7)+3(—9a+2b-6)

BIRELE - B OEXST D> O0— R MNE [BHDYU R THRE  https://www.okadori.net ©BHMDY R



B1ER & ZIER

N> ZZzn <L %IER

J

KROFEZ L7 3w,

@O 4(4x+6y) +2(9x—8y)
=16x + 24y +18x— 16y
=34x + 8y

® 5(—4a+9b) +7(6a—3b)
= —20a+45b+42a—21b
=22a + 24b

® 7(x—-4y)+3(—3x+2y)
=7Tx— 28y —9x + 6y
= —2x—22y

@D 4(4x-3y—-1)+22x—7y+9)
=16x—12y—4+4x— 14y + 18
=20x — 26y + 14

@ 9(-2x+5y—3) +5(4x—Ty+8)
= —18x+ 45y — 27 + 20x — 35y + 40
=2x+10y+13
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@ 9(2x—5y) +3(8x—y)
=18x — 45y + 24x— 3y
=42x — 48y

@ 2(—5a—7b) +8(8a+2b)
= —10a—14b+64a+16b
=54a+2b

® 6(7x+4y+5)+5(2x+6y+8)
=42x + 24y + 30+ 10x + 30y + 40
=52x+54y+70

3(—5a+3b+8) +8(2a—7b—-1)
=—15a+9b+24+16a—56b—8
=a—47b+16

2(5a—3b+7)+3(—9a+2b-6)
=10a—6b+14—27a+6b—18
=—17a—4
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